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In Section - A, there are 50 objective type questions which are compulsory, each carrying 1 mark Darvan

the crcle with blueblack ball pen against the corect option on OMR Answer Shee! prowded o you
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the resuit will be invalid.
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in Section - B, there are 25 short answer lype questions (each carrying 2 marks). out of whch any 15

questions are to be answered. Apart from this, there are 8 Long Answer Type questions (Each Camyng §
marks) Out of which any 4 questions to be answered.
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TS -3/ SECTION - A

TS 1w / Objective Type Questions

mm’#"’”#mm#mmﬁmﬁvﬂ?! ot # 13 T &1 3T

(5ax1=50)

- '?Wﬁx‘&va}mm- Bz 7 AT 3]

Ceaxtiog \ . l
. . , ({
: “ 11030 hare four options, out of which only ome is correct. You have [0 mark, your selected
Phon, on the OMR « Sheer (50xd=50)
| F” .
=lsintx] =
JL“ ZSIY cos (B) 2sinx
Cy .
oS 1] SINX COSX
b
T ox®m = SmaEns [X 15
~ B [4 4 ] =0¢-
~+1) 15 (B) -13
(€ N (D 4x
Tl’t\a.!ucofxul-.;n[‘ 1SI=0i\_
VRS N B -15
3 1 2 4 ®
wusd |1 3 6 1 ? —
1 4
\)
AAr | N (B -l
) 0 o 2
1 2 4
The value of the determunant |1 3 6 |1s-
1 4 9
(A) 1 (B) -1
(C) 0 (D) 2
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(A)  -h3 - (B |
-l oy

el
i -1"
Ay lantlsk J’,/ jaatioek
14 14
(€ lanttsk D lgatZ ek
:Un . . o

6. =iyl 2 A 3 7 Feo ST e 8
(A) ydie-(x' 4y iy =0 A (xy)dx — (1 ¥ Ny = 0
() (2x 4y -3y - (x4 2y = 3)du = 0 (D} (x —whdy = (x* +y+ Didx

Which of the following 13 a homogenoes &fforontial (e’
(A) ydi-(x"+y'Wy=0 4 1 (eyidx - (x* + y*)dy = 0
() (x+y-3dy—(x+2y-Inda =0 (D (x-yMy = (2% ¢+ y+ 1)

RS
T afm197+45]-6k g\‘&na’-

&
W vim (@ ® Vi
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© VIR o am

The madalas of the vector 191 + Si—olr:u

{A) \m 'IB‘ \"_20

O  Va M Va2
o

(A) b’ -2l B -

€ =¥ D) v

2 b |

[121/327] F Page 30/ 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

- -

. et Ll
9. 4164 fixgi=fin)=xi=x VaLveA M A—B Fann wdd AL
W UH-U& (THF) (B) MR
Q) TS H (D) HAF-TH (\yﬁ';ﬁtﬁ)
: 2
If f(x1) = f(x2) = x1 = X2 V x4, x3 € A, then what type of a function i$ f:A—B
(A) One - one (B) Constant
() Onto (D) Many onc
10 af2 A= 1 g g].a‘lﬁmﬁmﬁmﬁ,\'atwé?
() 213 B [+ 5 6]
5 4 6 1 23
(€) o - 36
) 2 S 25
3 6 1 4
&
\\ oy
IfA= Il 2 3 . thn@iich one of the following is equal to A™?
4 5 6 D
N |
(a2 @1 B 45 6l
5 4§6 1 2 3
(C) 1 4 (D) 3 6
25 2 5
3 6 1 4
I1. J’li’;' ="
3
(A) Ing§ » B log;
X
ch Iog-;- (D) log;
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12, o2 ~lex<), @M 2an'y=?

”/
A - (B) ., &
sln'l = ﬂnll -
() 1-x? (D) 1 +1?
sin™! S P
Py W
If -1<x< |, then 2tan 'x =?
(A) - ® 4 &
sin 1237 sin I...:J
(© I 1= m) m_,ln‘
sin 142! 1 ~xd
13. (. A—B JToTe v3= gm o -
(A)  ((A)cB B ((A)=B
(&) fiA)>B m f(A)e B
f A - B will be an onto feactos of -
(A} f(A)cB \\Q@ B (A)e=B
(C) f(A)>B §Q§ (L 1] ftA)»B
Q‘Zr
14, nﬂm)-f. P@i. PANB) =3 # PAUB) =
S
w 2 S ® !
! w/
' s
© 3 :

IP(A) =3, P(B) = . PANB) = . tea PAUB) =?

(A) ; (B) 3'.
© ; D) :.
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15, 16 om0 2 wh e v wqen A R @ @ B ay ara R~
) e sty ¢ w s o o €
\_‘}l/ wnfae # (i g A -!»T'!f 1

In the set of all straight lines in a plane, the relation R "o be Perpendicular” 1s -
(A) Reflexive and transitive (" Symmetne and transitive
(C) Symmetric ) None of these

16. [sIn20° —cos20°
sin70°  cos70° |

Ay -1 m
-AC) 0 (D) 2
. f;“”ﬂ*] =7
7, VIR L
- X !
(C) | ([
18, " \\Q®
s sin’xdx = ? &§
(A) -l Q\QQ” B 0
) ((;I | @$ m
©[icosxdx =2 )
N -l By 1
(C) :-' ™ o
20. d-d;[sin" x+cos~tx] =7
"’ ’ l
_{A) 0 (B) =
(C) _37%? (D) ;W
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2l. pAUM =2

(A) A+ B+ MA N B) m MA) - () - PLANB)
O PAYLPBY-ANE) (D) PA)-PIB)+ PAAND)
22, d
;llnnxl:‘?
—AA) sec’ x (" secx
(€) cot x (D) —-sec?x
23, d
T TATT L+ ysecx = tanx & R o & -
AN secx +tanx () secx —tanx
(€)  secx (D)  tanxsecx

Integrating factor of the differential equation :—:- + ysecx =tanxis -

(A)  secx+tanx (B)  secx—tanx

(C)  secx (D) . tanxsecx
24, 1

sin"!1— =7

X
(A) sec”!x _(,B/ cosec™! x
() tan~1x SQ\QQ\ (D)  sinx
&6
25 i pod -= 7 \Q‘b’
Q

A 1 6@ B -l

(0) k? \(9/
26. uf2 wfaw+,a+0=2a+bW WRafg &), @ (2+3)+48 -

( 18 (B) 17

(C) 19 (D) 21

The operation # isdefinedasa*b=2a+b,then (2 3)* 4 is-

(A) 18 (B) 17

(o] 19 (D) 21
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27 P
N 1. BT, ‘ . . sy g et B
t.a.uuzh.m.-h.-,q.-,z;_” ”(..-,“,)(1.; h) o
‘A 13 () 18

() 18

__,U” ' 15

U T4j+42Kkand b= 371427 =k, then the value of (.n’ +3 |!) (2 a- h) s
Was # 18
© s [VRE

28, dv

FIFSF whE ax Y Cosx = sinxcosx & WA IR ¢ -

(A) e Mnx ‘u_r/ LY

(C) e tosx n . o3 X

Integrating factor (1.F) of the differential equation :’-’E ~ y COSX = SINXCOS XIS *

(A) e-sinx y}/ osinx

(C) e=cosx (D) €3 X
29' nd ="'

[x"dx,(n = 0)=? Q'Q\

{'\) xh=1! %s\\ nel

! P k &Z, r +k

n+l
\Q‘G
((—} xn+l$% (D) xl‘l-l +k
=5

. G@Exd)b=

A 1 ® -

@ = ® &=
© ® ise
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A »
ST LA
5 % )] 1o 5
1

1
(A} e 2y =S AT fvs 2 y=-R
(Cy ve Yy e h) (h ft=-1y=6
3 , -
I Zlﬁ :l&l:] '\||'”|1’n [;I‘lhrn
(A) ive -2y =8 (») (v=ly=-R)
() (v= 1y =-6) (m (x=-) y=06j
LR
(A) n(E) + n(S) (B) nis)
niEj
() n(E) = n(S) J_DD/ bl
n(s)
M

r- 3 A RE FrEm ¢ -

(A) (0.0.0) (B) (1,0,0)

L 010 M.o. 1)

The direction cosines of z-axis are -
(M (0,0.0

(B) (1,0.0)
(€) 0.1,0

(D) 0.0, 1)

35, Prerfafea sraggl 4 @1 313 w9 B w@ie s &2
(A) 1 0 0 @RQ ( 1 0 0
1 00 @s\ & 010
1 0 U\QQ}% 0 0 1
(C) 0 0. M [0 1 0
0 01 01 0
00 1 0 1 0
Which of the following is the unit matrix of order 3 x 3?
(A) 1 00 (B) 1 0 0
1 00 010
1 0 0 0 0 1
€ [0 0 1 m [0 1 0
0 0 1 0 1 0
0 0 1 0 1 0
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.'!(l. J- e

— g )

Y
AT x4 c (") tan’ x + ¢
(C) COLX 4 ¢ (i —eot x4

3. 475 iy, 2y w1 ety wfen p -
(A) Xi-yj-zk (B) ;;'+y1'-1';
(C) xi-yj+zk () x|'+yl'”":

The position vector of the pont(x,y, z)1s -

(A) xi-yj-zk (B) zf+yf'7f"€

() xi-yj+zk (D) xi+y] yak
. 47 (3 4. 5) 1 x - 3m A 7h -

) Va1 | (M gam A arg

The distance of the point (3, 4, $) from v-anisis -

() Val & (D) None of these
\Q‘G
39 | _‘( 1 ) @Q
s —_—
G1AN
(/ n (B) T
(C) n (D) _n
2 2
40. ,_[3 6] o_[7 B i
a=lg L] B=[g o m2a+3m=
(A)  [27 24 BT 27 36
22 10 25 10
(C) 27 36 1)) 36
25 15 [:; 10]
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‘l lm.'d'_-

LY tahx 4 ¢ ! ~goty 4 ¢

it JCDER % 4 o M ~Jeonec ¥ # ¢

L mryapin-Ry=nt-2-% AR L. Tt @ g R -
iA) 1 (R)
'cl b "n, 11

: |

-
—
*

The slope of the tmpent sothe carve x = 17 4 31 =8, y = 2t — 2t = § at the point (2. -1} is -

(A) ¥ (B) ]
T
(Cy . (D) 12
7
4. TR fx) = L e wm f -
(A) i m 12
AC)H ¢ (D) :_
The marimum value of f(x) = ‘:F is -
(A) 1 H
\@ lB' :
€ e g\ o !
& .
M. Illl'loul'l-"\g%’
Q
(A} O @$ (B) |
c_—m (D) n
/ 2 -5
45. P(A)+PA) =2
(A) 0 N )
(C -1 (D) ME)
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46.

CIEEROATY L ll

s y X
A a4y B -y
() -y-x m I-x

o 1 -1
Evaluate IF XI

(A) ARG (B) X-y

(€C)  -y-» D) l-x
4. Ji sin’xcosxdx = 7

w1 B

© ! n

z S

4. vaws @i L 4 3(""!— tn efe

(A) | -..J'Rf 2

({6 I (D 3

3

The order of the differential tguion 5—1—2,'— +%? (g{) =x*is-

(A) I \\Q B 2

) 4 §Q§ (D)
wopa_, &

0 14x2 %Q

25
(Al -': n-(B] -
© 3= o I
2 2

50. [secxdx=7?

(A) log [secx| +¢ _.(B)/log Isecx +tan x| + ¢

(C) log [secx —tan x| + ¢ (D) secxtanx+¢
[121/327] F Page 120f 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

gvs -4/ SECTION-B

R- ¥ /Non - Objective Type Questions

Y I 4¥ /Short Answer Type Questions
T 1 25 0% T i &) R 15 A @ g 31 AR B I 2 9 Fffee

*
&l (15x2=30)
Question No. I 10 25 are short answer type. Answer any IS questions. Each question carries
2 marks. (15x2=30))

L. . r _ 2)
MR 5 R T f(x) = (3-x3)i . frg & ¥ (fof) (0 =x

I[T:R =R suchthatI(x) = (3 - x“)]?,lhcn prove that (fol) (x) = x
fre & b - (2)

Prove that -

ra

sec’(tan™'2) + cosec?(cot™13) = 15

y frg e - )
Prove that -
tan~'Vx = - cos -1z
1+x
¥ R - AN (2)
Prove that - \
coq 15° sin }é&F
sin 75°
5 "ﬂT?ﬁ’Tiﬁ B A (2)

Evaluate the determinant -

4 9 7
[3 5 7]
/" 5 45

J/fxm)-mmﬁmuﬁ— @)
Find the value of x and y if -

2fg s+(7 2l=
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, ) (2)
v oaR Az [q ‘I-.n*n 2 '] AB fmrd )
h (}
I = 5
A= |2 3| and = 4| find AB
‘ (2)
L8 ﬁm& af y = cosvsin x
Fmda{ ify = cosvsin x
- 9. ‘:—:f#m# af? ¥y =vsinx 2
Find & if y = Vsinx
dx
10. Eﬁaﬁuﬁ!y=ms":%:; 2)
-_ -1 l-l
Fmd 1fy-cos P
D¢ L B af¥ y = sinx cosSx @)
J dx
el il
Find == ify = sin® cos®x
W %—i frard o y = tan(x + y) @
dy .
F’md:’l’t ify =tan(x +y) Q'Q\
i N
13 7 e - NS (2)
" Rl W
valuate - %Q
Imt’xtﬁQ
W w P - Q)
Evaluate -
/ [ V1 +sin2x dx
\/ R ClCeor . Q)
Evaluate -
JZ cos? x dx
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(2)

::_: s
12, B3 W - 2)
Solve -
Xxdy + ydx = 0
18. &3 &N - (b]]
Solve -
St--’:+ ycotx = 2 cosx
\)a’ e TR G (2)
Prove that -
IR R I T R o
8 af 3=27-37-5K @ b= ~7746] 48K @@ ax b WA @
If3=27-3]-5k and b= -77+6]+8k . find3 x b
ill-/aﬁ: = (2,3,-5) R b=(2,2,2). o frg A 5 3ok b TR 9 ¢ (2)
If 3= (2,3,-5) and b= (2,2, Z)Q{hcn prove that 3 and b are mutwally perpendicular.
2, §d f«’rg A g (a.b.c) E‘ﬂgé‘fﬂﬂ Eafl http://www .bsebstudy.com (2)
Find the distance of nl (a. by ¢) from the ongin.
2, waamm—@%rmmmfm 2,3) A oA E R A I +dy-52=03 ()
TR & |

Find the equation of the plane through (1, 2, 3) and parallel to the plane 3x + 4y - 52 =0.
U AMIFAIFITRIMIFT AT NAMaRTa R @ a e Q)
A U W EA 4 T 2

Two dice are thrown. Find the probability that the numbers appearing have a sum 8 if it is
known that the second die always exhibits 4.

/{aﬁ: P(A)=§,P(B)=§.P(AUB]=%.?!’!P(s)mPG)ﬁmm )

If P(A) = 2,P(B) = 3,P(AUB) =2, then find P (£) and P (3)
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. ad Iadu uw / Long Answer Type Questions
¥ JE& 26 #nmﬁdwﬂﬂmdimw)f?$mmo,mvsw
Ruffla &1 1 « wrt &1 9w 31 (4>5=20)

i y } ks.
Question Nos. 26 to 33 are long Answer Type Questions. Each question carries ; f:d;m
Answer any 4 questions. (Ix5=

) (9)
2. Srtw smn A A WRIE (0, 4] A sita B W B e () = (D) (x2) (-3

Verify Lagrange's Mean Value Theorem ininterval [0. 4] . where function f (x) = (x-1) (x-2)
(x- ‘ll
1 (5)
2. 2 gy at xey=sec! (x-y)
dx
Find < ifv+y=sec’ (x-y)
dx
28, WEEFT I - (5
Integrate -
x e
Illﬂ:]z dx
P fhz TN - (5)
Prmcthdl
I \col:
\COII+\'!JH
A0, 30 X%+ =0 T AR arR1 fAFTa (5)
/Fmd the area of the circle x* 4 a’ by integration.
3 z\w&nsw;nia@f ~2j4 4k & D T S sine T B (5)
Find the sine uflhu. (bblmecn the (wo vectors 37 +J + 2k and 21-2j+4 k.
. g & - @ (5)
Prove that -
14a 1 1 Cr
I 1 T+b 1 =abc(1 +-+-+-)
a b ¢
1 1 1+
. REAQEHTO F (Minimize) z = - 3x + 3y (3)
T3fF (subject to) x+2ys8
Ix+2y<12
x20,y20
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